W26. Let be the function /: [0,1] - R integrable such that /{1) = 1 and
[ fieyde = %(yf(y) — xf(x)), ¥x,y € [0,1]. Find
I= f ZM f(x) - tanxdx

Mihaly Bencze and Florica Anastase.
Solution by Arkady Alt, San Jose, California, USA.

[Lfnde = L 0) -5 = [ A @w)'ar = [(fn - o) )de = 0

In particular IZf(l)dt = I; %(tf(t))/dl for any x € (0,1]. Then (fﬁf(”df); -
(ltewya) == Lam) = a0 = Lo +ve) =
f(x):xf(x)@wzom (@) 20@@=c.

Since f(1) = 1 then f{x) = x and, therefore,

/ 2,
/4 u = tan“x,u = tanx —x
1= _[Z xtan’xdx = |: :| =

v=x;v' =1
T 2 /4
((xtanx _xz))g/“ -~ j0/4(tanx —X)dx = (% - (%) ) + <ln(cosx) + lx2>0 =

2
F-(5) gy (§) - qper-iemd)



